BEEETE

FEMBDIEFRANRE

TH6EE

gt L5%

4 LEASHEMRETEZERNE (F02)



FEME (BERNRR)

(2 GEERR) |

8 LREBRHEMEXETEZERE (£02)

B HE &4 M3l
HEAEH
1% 10, 262, 210
KBIRERE RS
1= 10, 262, 210
KBIRERE RS

1% 10, 262, 210

KERE TR 100X, #AMER QERZY) 1.00X, FHE 320.00#m. BHE 98. 004 =
1% 9,460,518

EHRE BRiE 1.00h 52, BUFHEM 1.00xX. H47EER 1,00
1= 660, 692

Ei#ERE EBHRR 1.0, BIAEE 1.00=X
1% 141, 000




FE M (FERE R

[#z3 GEmaES:d) |

8 LREBRHEMEXETEZERE (£02)

A5 HE &4 2E
EETEE
1= 10, 262, 210
HEE
1= 6,447,790
AEEXE
1= 16, 710, 000
BERXTBME
1= 16, 710, 000
FEIEME
1= 16, 710, 000




